62. The diagram below shows a sketch of the triangle ABC with AB = Tem, AC=xem, BC =9 em and

' 2
cos BAC = =.
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{c) 'Wrte down and simplify a quadratic equation satisfied by x. Hence evaluate x. [3]

Fas
{b) () Espress sin BAC in the form V7 , where m, » are integers whose values are fo be
fonnd ”

- . A . ~ . . " . ~ P
(&) Expresssia ACBinthe form /; . Where p is an integer whose value is to be found.[4]
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£3. The tiiangle ABC is snch that AB = 16 e, AC=9 cm and ABC =23°.
o AN -
{a} Fnd the possible values of ACE. Give your answers correct to the nearest degree. 21
. . . A g
(b} Given that BAC Is an acute angle, find
(1) the size of BAC, giving your answer correct to the nearest deoree,
(i) the area of miangle ABC, giving your answer correct to one decimal place. 4]
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éit The GI’WIL.G] below shc,\\?-'s a sketch of the tmmﬂ]e ABCwith AB=8cm,AC=xcm,
BC=(x+2em zmdABC 60°.

x+2)em
(@) Write down and simplify an equation satisfied by x. Hence evaluate x. - [3]
. . A
(b) Find the size of ACE. [2]
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LS. (@) The miangle A.BC i such that AB = il cm and BAC = 110°. Given that the area of the
tiangle ARBC is 31 crm®, find the length of BC.

[4]
: . 2 .

(6) The triangle X¥Z is such that XY =2 cm, YZ = (23 — 1) em and YXZ = 60°. Find an
exmrescinn for sin 3”73 in the form "'\/_ where s, 77 are Intesers whose valoes are 1o he
found. - Ao : 15
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66. The diagram below sho\m a sketch of the toangle ABCwith 4B = xem, AC= (¥ [jem,
BC=(x+ 6)em and BAC = 120°,
B {x+6cm o L
{a) Show that x satisfies the equation 2x% — 9x — 35 =, Hence evaluate x. {4]
{b} Fmd the area of uiangle 4BC. Give your answer correct to two decrmal places, I3
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